Figure S2. Comparison of ITS2 variants from completed genome sequence data, cloning
data and 454 pyrosequencing data. For each species, an unrooted Neighbor-Joining tree
shows the diversity of ITS2 variants. Each branch represents an ITS2 variant, labeled with
the sample number followed by the rank of the variant, RVA of the variant, and the letter
(G, C or F). The letter G indicates a variant derived from completed genome sequence data.
The letter C represents a variant derived from cloning data. The letter F represents a variant
derived from 454 data. (A) Unrooted tree of ITS2 variants in Arabidopsis thaliana. (B)
Unrooted tree of ITS2 variants in Oryza sativa ssp. japonica. (C) Unrooted tree of ITS2
variants in Oryza sativa ssp. indica. (D) Unrooted tree of ITS2 variants in Populus

trichocarpa. (E) Unrooted tree of ITS2 variants in Zea mays.
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Figure S2B.
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Figure S2C.
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Figure S2D.
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Figure S2E.
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